ICS 21.060.10
J 13

e KBRS 3R T [E E 5K A Y

GB/T 70.6—2020

N7 RESLES] T8 LL

Hexagon socket head cap screws—Fine pitch thread

(ISO 12474:2010, Hexagon socket head cap screws with metric fine
pitch thread . MOD)

2020-03-06 &7 2020-10-01 3K




GB/T 70.6—2020

B "

GB/T 70 J& “MHITBET O AM D " RO M EbREZ — LR IS
—GB/T 70.1 M0 E L 85T,
GB/T 70.2 A 85T ;
—GB/T 70.3 NI BET;
—GB/T 704 NAMF B ™M B8 ET;
—GB/T 70.6 WA LBE T8
GB/T 5281 7 I Sk b v ST .
A4 K GB/T 70 M55 6 #43.
AT AT I8 GB/T 1.1-—2009 45 H4 i 450 0] ke %5,
AT 3 (0 FH T AR A SR D 1SO 12474220104 2K il 40 4 8 20 14 7 ff I FE Sk #8670,
A 1SO 12474:2010 MR YE 25 R IFH T .
—FERLSEPE S SO b 3R T AR R b (L3R 2 R0 S T GB/T 70.5 (W
% 1) .GB/T 90.2C W% 2)f1 GB/T 1237 5.1) o LAF 4 3% 5 55 15142 3E 0 b o«
— M T A AR CU2,CUSCIRTE 2), LA A 7= 5 i 8 1S 18
— 10T R R (WL 2) L LA IR I B R b o
A S E SR L AR O d <24 mm " 1"24 mm<"d <36 mm" (WL 2);
— W T R AR R W AR IC R P (L 5.2) LLATF A GB/T 1237 YHLE
— MR T 1SO 12474 :2010 %5 6 J2 A AR 0 5 A AR BER o] O BLAT [6] B b o o 2E 4%
i 180 261,180 888.1SO 898-1.1S0 965-2 . 1SO 3506-1,1SO 4759-1 #l 1SO 8839 . A i F 4
i o HLSE M9 7 .
AT BT T Y AR
— T bR E S B
— B T 1SO 12474 :2010 92 % SCilik .
A 23 b FHLBC IR A S,
A 45 h 4 B bR L3 R & 51 & (SAC/TC 85) I 1,
AR B 4 B RO o LA 7 G P T R R R R PR 2 B R R RRAE R AT PR 2 E] L
ol By A7 BRZS ) L1 R AZ WL P 0F 72 Be A7 BR 2% 5] 90 95 87 1 38 A 65 09l % A7 BR 2 6 0095 1 2 Ay
Fh & & A PR 6 BT V2R 0 4 i) 54 AT BR 2 8] ek R AR AT R A E]
AR A3 eh 4 1 B A B ol A B R 5 51 2 1 U RS .




GB/T 70.6—2020

RN BEEXEST IRy

1 e

GB/T 70 A4 BLE T 475 Fi D EE Sk 40 F 86T 19 X R R SR bR

AMEN TRAAFRERE d=8 mm~36 mm 4 FHa HEESH R 8.8,10.9,12.9/12.9,
A2-50,A2-70 ,A3-50 . A3-70,A4-50 , A4-70 . A5-50 . A5-T0 ,.CU2 fl CU3. = S8k A 2000 R iy [ £
S BRET .

WETRY B H RS R AL

2 MEHsIBxXH

TH SRS T A SCHF 6 R R AR TT A . FLJETE B A9 51 SCPE AL H OB AR 38 JI T AR S
ko PR TE H W09 51 SCF L CIROR RIUAS CBLES B AT 14 4 240 o ) 38 JH F A ek

GB/T 2 B SMBLEAMAENGB/T 2—2016,1S0 4753:2011.MOD)

GB/T 70.5 WM (GB/T 70.5—2008,1S0 23429:2004.1DT)

GB/T 90.1 'BR{F 5 &(GB/T 90.1—2002,idt 1SO 3269:2000)

GB/T 90.2 %REF HESE%

GB/T 193 ¥W@¥4 HAES5EE R (GB/T 193—2003,1S0 261:1998, MOD)

GB/T 1237 BB FRE A (GB/T 12372000, eqv 1SO 8991:1986)

GB/T 2516 ¥msar  BEBR W25 (GB/T 2516—2003.1S0 965-3:1998, MOD)

GB/T 3098.1 BB FOLMPERE 88 (B ET B (GB/T 3098.1-2010,1S0 898-1:2009,MOD)

GB/T 3098.6 HE{FHLMIERE A8 WK BT M (GB/T 3098.6—2014,1S0 3506-1;
2009, MOD)

GB/T 3098.10 BB FULMRTERE A (o 4 o il s 00 8% #  SRET . 884 F 8% £} (GB/T 3098.10—
1993, eqv 1SO 8839:1986)

GB/T 3103.1 B@EFA2% B8 BT M GB/T 3103.1—2002,idt ISO 4759-1:2000)

GB/T 5267.1 ‘B[ WHERGB/T 5267.1—2002.1S0 4042:1999.1DT)

GB/T 5267.2 ‘B A IR RGB/T 5267.2—2017.1S0 10683:2014, MOD)

GB/T 5267.4 MW FmnAb B i oA 86 sk b (GB/T 5267.4—2009.1S0 16048:2003.
IDT)

GB/T 5276 ‘BRI Bk R B4 EBE RS MR (GB/T 5276—2015.1S0 225
2010, MOD)

GB/T 5779.1 RMEfFF&mibti @6 BTmse —BER(GB/T 5779.1—2000,idt 1SO 6157-1:
1988)

GB/T 5779.3 RWMFRmELEE SRE SRETMEHE  F2E%R(GB/T 5779.3—2000,idt 1SO 6157-3;
1988)

GB/T 9145 Wil#ar PSR EE R BMR S (GB/T 91452003, 1S0 965-2:1998.
MOD)

GB/T 16938 BEM{F S84 8T A ML Gl I AR KM (GB/T 16938—2008,1S0 8992,
1



GB/T 70.6—2020

2005,1DT)

3 BARYT

TR RIS OLE 1 e 1,
RS bR R 456 GB/T 5276,

=
I )
{
X
I
|
a) RAFHEHRR
'
=120° =
b RIFHEHER ¢ RFHBHERES

B 1 AN REELRET



-

p

:l+ ¥
e

=45"

& kAR LT HA
s .
He KA I FRLVACIE £ = 1. Tr
Frwe = (d goax = d e )/ 2

YAV ik GB/T 2,

P ORSERE A I w<<2P.

AR O TR O £ O e AL

VY GETFRGE T L. BT S

© O FAT bR AC Y F i X 3

U b A T L 0 S R o AR AT B
© T 0 bt AT A Rk 00 A o8 8 A L el 0 AT

GB/T 70.6—2020

¢/2
1/3(e/2)"
- ~
s N
L N
e ¥R

"R P S R K AR K B BRI b B AL i 0 ek ) AS e o S A ] — T e /20 1/3,

B 1



GB/T 70.6—2020

£cl 1'gl 01 9'8 89 8¢ 8y ¥ &8 uw ;.
9°g £ 12 3 91 bl Al I 8°0 xew o
61 c'gl z1 01 8 L 9 g v uw g
€90°L2 €90°22 €90°61 80°L1 2E0°¥1 2£0°21 526°01 $20'8 20°9 ur
$LZ°L2 €12°22 §LZ°61 £2°L1 Z12°'v1 FA FAA | AR AR 19 xew §
Lz 7 61 L1 ¥l zl 01 g 9 7
I I 70 870 9°0 9°0 9°0 0 0 uw
8e°ce 8162 81'EZ 8161 18°¢1 L8°€1 28°11 19'6 F9°L ur
00°9¢ 00°0g 00°ve 00°02 0091 00Vl 0021 0001 00°8 xgw :
68°2 68°2 19°2 10°2 11 Ghl S 20°1 20'1 xew g
pe8'0g ¥S1°¢2 ¥EL1Z LEV'61 966°G1 91L°€1 62111 611°6 £98°9 w2
¥e'zs 19°¢y 18°ve 18°82 L1Ee L1°02 £2°L1 £€°C1 | uw - *p
19°ce 19°62 L9°62 L9761 £L°¢1 L€l £L11 816 8L'L urw )
00°9¢ 0otog 00°V2 0002 0091 00yl 00°21 0001 00°8 Xew !
6'es 19°%b [e'ce 19762 19'€2 29°02 £LL1 gLcl £L°21 ur
91bG BE'SK 6£°9€ ££°08 £€'V2 £E°12 281 12'91 1281 pXew "
00°¥S 0o ey 00°9¢ 00°0€ 00°Va 0012 00'81 0091 00°¢l Xeu
1°6€ 1ee 192 V22 1L Ll LEl 1l 26 xew  'p
18 oL 09 z¢ b ov 9€ ze 82 %%
— —~ ~ (2 X 0ZN) - (S IXVIND | (S2'IXZIAD | (821 XO0IN) - A XP
£ X 9L 2> 0EN ZXVIN S I X 0ZW CUX9IN - SIXZIN [ X 01N I X8W AW
KR BT ik NORVRES § SE=717 |- Ata | ¥




GB/T 70.6—2020

e -f TGO R Y — D d e —"""1

q— o 1= :-..‘n\

sy

PSSR B L WA L GG o TOR AT D BT 6 MG BT W N O R e .

TG0L L/9D WP NN sy o
o .-:-.f.—..— -— e z-E-u

“HEUBLH

“HEMNLH

TTH AL TN E L

‘s —d .

R GY R BRI 2 oy P

911 96 | szl | coi1 ] orl | cat | ¢l | ccel 6°00Z | 1°661 | 002

96 9. | so1 | <06 | ozt | co1 | ser | ¢t 87081 | 2°621 | O8I

9z 9¢ 88 | c0L | ool <8 | sol | ¢<6 | 911 | 9ol 8091 | 2°651 | 091

99 9t 82 | 09 | 06 ) 8 | ¢'c8 | 9ol 96 8°0C1 | 2°6¥1 | OCI

9¢ 9¢ g9 | co¢ | 08 ¢9 88 | ¢'cL | 96 98 | ool | 05 8°0FL | 2681 | 0¥l

ar 9z sc | cor | oL cc 8L | cc9 | o8 9. 06 08 8°0EL | 2°621 | OFI

9t | ot | s | coe | 09 ] 89 | ¢'ec | 9. 99 08 0L THREED 1°0Z1 | £°611 | 0zl

ge | coz | oc¢ cE 8¢ | ccb | 99 9c 0L 09 TR 2011 | €601 | OL1

........ oF 52 8v | c'ce | o8 9v 09 0g ¥9 | Sz | &9 | <09 27001 | £°66 | 001

0% ¢l Re | ¢Sz | oF 9E 0¢ oF ¥S | cz'eb | ®¢ | co¢ 1706 | €68 | 06

I R T O 9z oF OF F¥ | Se'SE | 8 | <O | &t | Si'6k | 9°08 | v'6L | 08

9z 91 08 0z Ve | Sz | ®t | S0t | aF | sLce | 902 | ves | oL

12 1 ¢z o1 62 | S20z | £t | &<z | 28 |cL0E| 9¢9 | vve | <9

TTTITTT N oz o1 bz | 261 | €2 | <0z | e¢ | sL'62 | 909 | 65 | 09

........ 51 | cz'or | €2 | eot | 22 | <sc0z | 9°ss | v'vs | ¢¢

T T T st | cor | 2z | sier | cos | cer | o¢

_fU |_gs | 2t |sor | ssr | evr | b

71 | szc | cor | c6e | ov

........ cce | cve | of

ZV°0E | 85762 | 0

Zr'ss | 85vz | se

210z | 8561 | 02

g9l | co'cl | 91

¢zl | €9°11 | 2l

xeu ujw xew ujw xuu ur xXew uw xuw unu xXutu uit xeu unu Xew uiu Xuu un | xew | ung | W7
"1 ‘1 J] ‘7 g ‘7 o ‘7 ' ) 7 7 7 ‘7 " ] " ‘7 :
7 !




GB/T 70.6—2020

4 BREFHMSIARE

HR R ARG bR R 2,
R2 BREFGMSIARE

o el il AHEM LR
il HI 4 AR R GB/T 16938
N 12.9/12.9 4% :5g6g: S % 4t .6¢
. & fr i GB/T 193.GB/T 2516 .GB/T 9145

d<24 mm:A2-70 ",
A3-70,A4-T0 ,A5-T0

e 8.8.10.9.12.9/12.9 24 mm<_d <36 mm; Cu2.Cu3
BLbk e A2-50 * (A3-50,
A4-50,A5-50
bR GB/T 3098.1 GB/T 3098.6 GB/T 3098.10
7 i 4 A
Vo <3
b GB/T 3103.1
ANEp b A,
o 4R R TTS T WA,
R e HL B AR R
GB/T 5267.1: il b 3P BOR iR GiEag
1 5] =
R i e R R AR | GB/T 52674

sK¥k GB/T 5267.2

b A B A SR o i Ak B R ey RS P

12.9/12.9 %
& il L By # GB/T 5779.3. - =
HAldl GB/T 5779.1
Sl 1t % GBR/T 90,1 .GR/T 90,2

C AR I T YRS <12 mm QYERET . SLVFIE T AL-T0 RAE P G L 0 bR AL Y O —F
Y OHAGE SO T A BRET . ALV AL-50 (A B A AR N S B

5 #id
51 #FiEFE
Fric 4 GB/T 1237 M HLE .
5.2 FRi2RGI
SRECHLRS Jy M12X 1.5 A FRICEE 1 =80 mm A F AL HERB S SN 8.8 2 R AL A BN

7N A R Sk ST Y Bt
WET GB/T 70.6 M12X1.5X80



& AL G TR G BE LA SR ET 69 B % it

M R A
CEEMEM )
WA ETHO R

GB/T 70.6—2020

XAl HARTHWBSERR WAl T ¥
M8X1 | M10X1 | MIZX15 — M16X1.5 | M20X1.5 | M24X2 | M30X2 | M36X3
HRE LS Miox | Mizx | MI4X
: 1.25 1.25 15 = Ry < : :
ﬁiﬁlﬁ 1§ 1 000 {1 FRERET YT Bk (p=7.85 kg/dm’ )=~

12 10.9
16 12.1 20.9
20 13.4 22.9 32.1
25 15.0 254 35.7 18.0 71.3
30 16.9 27.9 39.3 53.0 1.8 128
35 18.9 30.4 42.9 58.0 81.4 139
10 20.9 32.9 16.5 63.0 91.0 150 270
45 22.9 36.1 50.1 68.0 97.6 161 285 500
50 24.9 39.3 54.5 73.0 106 172 300 527
55 26.9 42.5 58.9 78.0 114 183 316 554 870
60 28.9 15.7 63.4 84.0 122 194 330 581 910
65 31.0 48.9 67.8 90.0 130 205 345 608 950
70 33.0 52.1 71.3 96.0 138 216 363 635 990
80 37.0 58.5 80.2 108 154 241 399 690 1070
90 64.9 89.1 120 170 266 435 745 1 150
100 71.2 98.0 132 186 291 471 800 1230
110 107 144 202 316 507 855 1310
120 116 156 218 341 543 910 1 390
130 168 234 366 579 965 1470
140 180 250 391 615 1020 1 550
150 266 116 651 1 080 1 630
160 282 1 687 1130 1710
180 191 759 1240 1 870
200 541 831 1 350 2 030




